® .
PERDDX hoticionee=

CONSERVATION THROUGH INNOVATION

Parts: Fixings:
1 x Mink Raft Base 6 x 35mm Wood Screws 5 x 16mm Wood Screws
2 x Tunnel Side Boards 8 x 50mm Wood Screws 2 x 50mm Dome Head Screws
2 x Tunnel Roof Boards 4 x 25mm Wood Screws 2 x Hinge
1x Tunnel Lid 4 x 20mm Wood Screws 1x Hasp & Staple
Step 1:

Visit our site

Using the 6 x 35mm wood screws, attach the tunnel side boards to the inside of the
wooden battens where guide holes are located.

Attach the two tunnel roof boards to the sides using the 8 x 50mm wood screws
where guide holes are located.

Step 2:

Attach the two tunnel roof boards to the sides using the 8 x 50mm wood screws
where guide holes are located.

I :

PERDIX Wildlife Supplies. Unit 1 Hatton Rock Business Park,
Hatton Rock, Stratford-Upon-Avon, CV37 0BX. UK
Tel: +44 (0)1789 336123 www.perdixwildlifesupplies.com




®

PERDDX hoticionee=

CONSERVATION THROUGH INNOVATION

Step 3:

Attach 2 x hinges to roof lid using 4 x 25mm wood screws at marked points.

_

Step 4:

Attach hinges to tunnel side board using 4 x 20mm wood screws.

Step 5:

Attach hasp to tunnel lid at marked locations using 3 x 16mm wood screws.

PERDIX Wildlife Supplies. Unit 1 Hatton Rock Business Park,
Hatton Rock, Stratford-Upon-Avon, CV37 0BX. UK
Tel: +44 (0)1789 336123 www.perdixwildlifesupplies.com

Visit our site



®

Mink Raft Assembly
Instructions

PERDIX

CONSERVATION THROUGH INNOVATION

Step 6:

Position and attach staple to tunnel side using 2 x 16mm wood screws.

Step 7:

When in trapping mode, the 2 x 50mm dome headed screws can be used to
prevent the cage trap from being removed when lid is closed. Insert screws
into underside of lid to a length of approximately 25mm so that screw heads
are positioned just inside cage.

T,

If you require any further assistance please do not hesitate to contact us.

PERDIX Wildlife Supplies. Unit 1 Hatton Rock Business Park,
Hatton Rock, Stratford-Upon-Avon, CV37 0BX. UK

Tel: +44 (0)1789 336123 www.perdixwildlifesupplies.com

Visit our site




